SECTION 6 - BID FORM PRICING

QUANTITIES ARE CANVASSING AMOUNTS ONLY

NO	ITEM	POUNDS TO BID	CONTAINER SIZE	QTY	PRICE,\$	PRICE,
1	Acumer 2100	50	50 pounds	1	145.00	145.00
2	Belclene 245	700	5-gallon pail	14	135.00	1890.00
3	Belclene 575	50	5-gallon pail	1	230.00	230.00
4	Belsperse 400	1050	5-gallon pail	21	157.00	3297.00
5	Cyclohexylamine	108	5-gallon pail	3	252.00	756.00
6	Dequest 2010	355	30-gallon drum	1	1850.00	1850.00
7	Diethyl Hydroxylamine 85%	102	5-gallon pail	3	200.00	600.00
8	DB-103 Polymer	50	5-gallon pail	1	175.00	175.00
9	DBNPA Solid	100	10# container	10	200.00	2000.00
10	DTEA II	50	5-gallon pail	1	175.00	175.00
11	Erythorbic Acid Granular	50	50-pound bag	1	125.00	125.00
12	Hydrogen Peroxide 30%	508	55 gallon	1	550.00	550.00
13	Isopropyl Alcohol	66	5-gallon pail	2	350.00	700.00
14	K-Bac 7015	300	30 gallon	1	350.00	350.00
15	Morpholine	180	5-gallon pail	3	220.00	660.00
16	Na Ortho Silicate	50	5-gallon pail	1	250.00	250.00
17	Peracetic Acid 5.1%	43	5-gallon pail	1	125.00	125.00
18	Phosphonobutane Tricarboxylic Acid 50%	50	5-gallon pail	1	210.00	210.00
19	Phosphoric Acid 75%	130	5-gallon pail	2	175.00	350.00
20	Potassium Hydroxide 45%	3960	55-gallon drum	6	555.00	3330.00
21	Propylene Glycol 99%	6500	55-gallon drum	10	1450.00	14,500.00
22	Sodium Bisulfite 38%	550	5-gallon pail	10	40.00	400.00
23	Sodium Glucoheptonate 50%	100	5-gallon pail	2	125.00	250.00
24	Sodium Hydroxide 50%	1536	15-gallon carboy	8	100.00	800.00
25	Sodium Metasilicate Anhydrous	100	50-pound bag	2	55.00	110.00
26	Sodium Molybdate Crystals	800	200-pound keg	4	2800.00	11,200.00

NO	ITEM	POUNDS TO BID	CONTAINER SIZE	QTY	PRICE,\$	EXTENDED PRICE, \$
27	Sodium Nitrite	150	50-pound bag	3	70.00	210.00
28	Sodium Sulfite Anhydrous	400	50-pound bag	8	65.00	520.00
29	Sodium Tetraborate 5Mol	300	50-pound bag	6	75.00	450.00
30	Surfactant 9.5 mol	100	5-gallon pail	2	110.00	220.00
31	Granular Benzotriazole	420	60-pound keg	7	1320.00	9240.00
32	Stabilized Bromine Chloride 17%	2560	55-gallon drum	4	1125.00	4500.00
33	Tetrapotassium Pryophosphate	100	50-pound bag	2	160.00	320.00
34	UCON 50 HB5100	44	5-gallon pail	1	125.00	125.00
35	Versaflex 1	143	15-gallon carboy	1	325.00	625.00
36	30" 1-micron GCT B 1 A Filters 30-2		case of 5	5	200.00	1000.00
37	Pan-Fresh 2		case of 144	1	500.00	500.00
GRAND TOTAL \$ 62,738.00)	
GRAND TOTAL (In words) Sixty-Two Thousand Seven Hundred Thirty-Eight Dollars and No cents						

Please attach net price list or catalog with discount of other items you carry that may be purchased from the awarded contract. Items which do not have established and auditable pricing SHALL NOT be purchased against this contract.

Notes for improvement:

(In words)

- 1. The product Granular Benzotriazole can be replaced with TolyTri-azole liquid in formulation that may reduce cost.
- 2. Stabilized Bromine Chloride may be replaced with a dual bromine chloride and sodium hypo-chloride that would be less expensive. It is a good review.
- 3. Propylene Glycol has risen drastically with oil prices. Plus there is curtailments and allotment systems, This may be best priced with spot market pricing.
- 4. Sodium Molybdate is a corrosion inhibitor and my be substituted with another inhibitor depending on function. It would be worth a review.

SECTION 7 - BID FORM SIGNATURE PAGE

The Contractor agrees to provide the service, and/or supplies as described in this solicitation and subject, without limitation, to all specifications, terms, and conditions herein contained. Bidder shall acknowledge receipt of each addendum issued in the space provided on the bid form.

Signature or	1 File	
Χ_ ∠	-, F2	Persion +
A. GREGG GEHR.		
		CORPORATE SEAL (If available)
BID MUST BE SIGNED	AND NOTARIZED (WITI	H SEAL) FOR CONSIDERATION
Subscribed and sworn to before me this	day of	AD, 20
	My Commission Ex	pires:
(Notary Public)		
	SEAL	

SECTION 8 - MANDATORY FORM WATER TREATMENT CHEMICALS 22-016-FM

(PLEASE TYPE OR PRINT THE FOLLOWING INFORMATION)

Gehrke Technology Group, Inc.

Full Name of Bidder

	Main Business Address	1050 N. Rand Road				
	City, State, Zip Code	Wauconda, Illinois 60084				
	Telephone Number	847-487-9110 (Office) 847-878-0716 (cell)	Email Address	ggehrke@gehrketech.com		
	Bid Contact Person	Greg Gehrke				
The	e undersigned certifies that	he is:				
	the Owner/Sole Proprietor	a Member authorized to sign on behalf of the Partnership	X an	Officer of the a Member of Venture	the Joint	
Her	rein after called the Bidder		artnership c	or Officers of the Corporation are as follows	3:	
	A. G. Gehrke					
	(President or Par	tner)		(Vice-President or Partner)		
	E. M. Gehrke					
	(Secretary or Par	rtner)		(Treasurer or Partner)		
that form	t this bid is made without comes of agreement and the courement Officer,	collusion with any other person, ontract specifications for the ab DuPage County, 421 North (firm or cor pove design County Far	ed in this bid as principals are those named poration; that he has fully examined the plated purchase, all of which are on file in the Road, Wheaton, Illinois 60187, and a ations and attached exhibits, including	roposed ne office	
Add	denda No. <u>,</u> ,	_, and issued thereto.				
and	d other means of construct	_	ervices nec	provide all necessary machinery, tools, ap essary to furnish all the materials and eq e therein prescribed.	•	
Fur	ther, the undersigned certi	fies and warrants that he is dul	ly authorize	ed to execute this certification/affidavit on b	ehalf of	

Further, the undersigned certifies and warrants that he is duly authorized to execute this certification/affidavit on behalf of the Bidder and in accordance with the Partnership Agreement or by-laws of the Corporation, and the laws of the State of Illinois and that this Certification is binding upon the Bidder and is true and accurate.

Further, the undersigned certifies that the Bidder is not barred from bidding on this contract as a result of a violation of either 720 Illinois Compiled Statutes 5/33 E-3 or 5/33 E-4, bid rigging or bid-rotating, or as a result of a violation of 820 ILCS 130/1 et seq., the Illinois Prevailing Wage Act.

The undersigned certifies that he has examined and carefully prepared this bid and has checked the same in detail before submitting this bid, and that the statements contained herein are true and correct.

If a Corporation, the undersigned, further certifies that the recitals and resolutions attached hereto and made a part hereof were properly adopted by the Board of Directors of the Corporation at a meeting of said Board of Directors duly called and held and have not been repealed nor modified, and that the same remain in full force and effect. (Bidder may be requested to provide a copy of the corporate resolution granting the individual executing the contract documents authority to do so.)

Further, the Bidder certifies that he has provided equipment, supplies, or services comparable to the items specified in this contract to the parties listed in the reference section below and authorizes the County to verify references of business and credit at its option.

Finally, the Bidder, if awarded the contract, agrees to do all other things required by the contract documents, and that he
will take in full payment therefore the sums set forth in the bidding schedule (subject to unit quantity adjustments based upon actual usage).